
Square Root Function - Finding the Domain

Example: Find the Domain of:
Recall: The Domain of a function is the set of x values of the function.
We saw that the domain of f (x) consists of all x so that:

6x2 + x − 2 ≥ 0
Another way we can think about this is that f (x) is undefined if:

6x2 + x − 2 ≤ 0
Since f (x) is not define for

−2
3 < x < 1

2
The Domain is all other x−values.
Conclusion: Domain of f (x) =

√
6x2 + x − 2 is:

(
−∞, −2

3

]
∪
[

1
2 ,∞

)
We can visualize the Domain on the number line:

http://www.coobermath.com/Review_and_Linear_Equations/Relations_and_Functions/More_on_Relations.pdf
http://www.coobermath.com/Radical_Functions/Revisiting_Root_Function/Square_Root_Revisited_Domain.pdf
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